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III Find the sum.

2049 + 175

,'@ Tickets to the movie are
! $12 for adults and $7.25 for

S ———

I Kelli bought 76 pounds of |
! chocolate, 3.52 pounds of
l\ graham crackers, and 0.862

children. How much more is
a ticket for an adult
than for a child?

pounds of marshmallows. How

|
\
-
/
|

much did her ingredients weight
altogether?

$28.09 -

\a $190 b $0Iq

I:' Find the difference.

875 - 345

4266 - 79

ya 3476 b. 5056 ¢ 4187
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28 Task Cards
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T® Frvt tho sum. * 14 multiple choice
2044 + 175 14 open-ended

O ;
\\\\\ @ Tlckefs to the movie are || | Kelli bought 76 pounds of

I $12 for adults and $7.25 for chocolate, 3.52 pounds of

"""""""""""""""""""""""""""""" § ) : graham crackers, and 0.862 |
children. How much more is 1 I
pounds of marshmallows. How ~

a ticket for an adult i much did her ingredients weight
than for a child? altogether?

\
O
I
|

b. $I010 ¢ $46(

,” e IS

7 ~0 -1 [
el @ Betsy biked 925 mileson || |
' Monday, 1.2 miles on \I i $5188 + $2.35
| Wednesday, and 3625 mileson ;| . |
Frlday How far did she bike \‘ a $4953 b. $5423 . $7538 ,

altogether on the three days? l

Find the difference.

4266 - 79

Prinlll, CUII. on 2 \a 3476 b 5056 < 487

S =

straight lines, & use!




Answer Key &
Recording Sheet

Decimal Addition & Subtraction
Answer Key

a) 0.7 2. 759
$390 I3. B)20.376
c) 635 M. $209

759 I5. A)4779
b) 263 6. 34.329
$5.54 17 C) $18.24
a) 66.715 18. 0957
28.00I 9. B)33
c) 2.7 20. 1175

. 3799 2. C)394
b) $l0.10 22. $885

E500ONOU LWNT

Easy to
correct!




CC, 1 Can, & Example

Posters  Print&
Display!

l. Line up the
decimails,

¢ 8 The Solution
. 1/ Decimal Addition & Subtraction !
Abptoatmed 14 CCSS SNBTB.T \ L Line up the 3 Y 6

directly below 1
I can add, subtract, Ssdinck:

then solve. +2. 5

2. Place the decimal

in your answer
directly below 5 = q 6

the other decimals.

yesterday and 2.5
miles today. How far did
she run altogether?

\ /




